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1 ‘Bajada’ is a type of . I - (C) Exhumationofrocks -

(A). Glacial deposit (D) Confluence of river streams
(B) Alluvialfan | o o
6. Fiords are formed dueto :
- .(C) Meandering stream ' i

Y (A) Lacustrine proceéss
aanadune ' ’

(B) Wind action

2. Astream cons1st|ng of mterwoven : .
- (C) Glacial activity

(D) Alluvial activity

channels is known as:

- {(A) Fluvioglacial stream SN
~ (B) Braided stream 7. Well sorted aeolian deposns are
(_C) Meandering stream , | '; | | ch[eﬂy composed of :
(D). Matured valley stream - (A) Clay
3. Acanyonisa: o (B) Sand o
(A) Adeep valley with vertical sides . (C) Sand and Silt
(B)','Adeef) asymmetrical valley’ (D) Siltand Clay o

".(C),"Brogd,matu_red stream course 8. ﬁrainage density of a:.'basin is a

" (D) Valley formed by aeolian -
- - activity

measure of

(A) Total number of the hlghest

i‘,4_"__. 'A:_network of parallel‘or subpargllel i' “order streams dIVIded by the
streams developed along strike and total number of the next lower

- _dip directions are known as :

| order streams
(A) Dendritic ' '

(B) Length of the Iargeét stream

- (B) Radial » .
. . C divided by the total area of the

(C) Trellis oo _ .

e : basin

- (D) Domal : \ o
R (C) Total length of streams of all
5 Theterm ‘oustatic'implies: - orders divided by the total area

. (A) Worldwide changes in'sea | " ofthe basin |

Ieve! ‘

(D) Total numbér of streams of all

(B) Erosmn of land to peneplanatlon orders

ER-2A/10 - o (2) S . Contd.




10.

1.

12.

Moraines are formed in":

(A) Lacustrine Environment
(B) Glacial Environﬁent |
(C) Alluvial Environrﬁent

(D) Marine Environment

Karst topography is most commonly

developed in:

(A) Shale bearing areas

(B) Sandstone bearing areas
(C) Laterite bearing areas

(D) Limestone bearing areas

A sand dune with its long axis

transverse to wind direction is
called ' |

(A) Longitudinal dune
(B)
(C)

(D)

Sand ridge
Parallel dune

Barchan |

Eskerisa:
(A)
(B)
(©)
D)

Thoroughly graded bed
Deposit formed by wind action
Glaciofluvial deposit

Alluvial deposit rich in clay

matter

ER - 2A/10

(3)

13.

14,

15.

16.

(B)

(B)

Development of stalactite and

stalagmite is associated with :

(A) Abrasion of vaileyfloor -.

(B) Solution acitivity -

(C) Sorting process

(D) Organic activity in ocean beds

Mass wasting is primarily "affected‘-
by: | |
(A) Forceof gravit;r

Intensity of oxidation

(C) Intensity of carbonaization

(D) Strength of streams

If a region is lacking in structural

" control, therithe dralnage pattern in

such reglons wnl be:
(A)' Dendrltlc |
Trellis -

©)
®

Rectangular o

Radial

A Caldera IS

(A) Avery |arge crater

(B) Along mountam chain .

(C) Agorge formed due to fau|t|ng
(D) A U-shaped valley

(Tum over)




17. ' Rock flour or gouge Is closelylinked 21,

18:%

o
19...

20.

to:

(A)

(B

(C)

- ©)

"The. angle which the fault plane

Ductile deformation
Brittle deformation
Flow of incompetent beds

Collapse structures

makes with vertical plane is known

as.

(A)
(B)
(C)

If-the hanging wall in a fault is in

Net slip

‘Heave

Strike slip
Hade

downthrown side, itis called :

(A)
(8)
(©)
(D)

Thelinewhichis paralleltothehinge o4

Reverse fault
Normal fauit
Tear fault

Hinge fauit

in a fold is called :

A

| ®
(©

(D)

Axis of the fold

Axial piane of the fold
Crést of the fold
Plunge of the fold

ER - 2A/10 O (4)

22,

23.

if the axial plane of the fold is .

horizontal, then it is said to be :
(A) Openfold -
(8) Tlght‘fold

(C) Recufnbentfold

(D} Isoclinalfold

A contact of younger sediments
deposited over a thick residual soil
that grades into underlying bedrock

is called

(A) Discontinuity

(B) Non-conformity

(C) Blended unconformity
(D) Angularunconformity

The intersection of bedding and

- cleavage produces .

(A) Lineation

(B) Boudin

(C) Mullian structuré

(D) Joint |

High angle faults are those that dip
greaterthan: |

(A) 60 degree_

(B) 65 degree

(C) 40 degree

D) | 45 degree

- Contd.




25,

26.

27.

28.

In wiiich fold there could be two
hiﬁges‘?

(A) Tightfold

(B) Isoclinal fold .

©) Overtumed fold

(D) Boxfold

Thickened crests and troughs with -

thinner limbs are noticed in:
(A) Open fold

(B) Disharmonic fold

(C) Bucklefold |

(D) Overfold

On a geological map, if older strata
are found to be surrounded by

younger strata then it could be :

(A) Aninlier

(B) Anoutlier

(C) Anoverlap

(D) Anappe structure

Horst and Graben structures are

mainly confined to:

(A) Transform boundaries -

ER-2A/10
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30.

31.

(B) Subduction zones.
(C) Collisionzones

(D) Divergent boundaries

Granite usually exhibits : |

(A) Diagonaljoints

(B) Strikejoints

(C) Vertical joints

(D) Sheetjints

The fold is said to have plunge

Aif:

(A) Theaxisis h'q_rizontal. |
(B) The ax{is is r_aot“ho__rizontai
(C) ltis asymnjetrical ‘

(D) Itis tightly'f'q_lded

The two super continental blocks
separated due to drifting érg :
(A) Pangeaand-Laurasia.

(B) Pangeaand Goananaland

(C) Laurasia and Gondwanaland

(D) Laurasia and Panthalassa

- (Turnover)




32.

33.

34.

The convection energy of the earth

is commonly released along :

(A) Transform fault boundaries

(B) Subduction zones

(C) Divergent boundaries in
opeansl-

(D) Collision zohes

Mohorovicic discontinuity separates :

(A} Crustand Mantie

(B) Innercore from outer core

(C) Upper mantle from lower

" mantle

(D) Mantie and core

The asthenospheric layerinclued :

(A) Crustand upper mantle

7 (B) ‘Lower and uppermantle

35.

(C) ' Crustand mantle -
(D) Mantle and core

An average density of 1 0.7!gmlcm3

‘prevails at :

“(A) Uppermantle

ER -2A/10

- (B) Core

36.

37.

38.

(C) Lowercrust

(D) Lowermantle

The proces.s‘of weathering by
exfoliating activity is very effective
in: |

{A) Layered rocks

(B) Massive rocks

(C) Jointed rocks

(D) Foliated rocks

Pelean type of volcano is known

for:

(A) Mostviolent activity -

- (B) Quietflow

(C) Submarine flow

(D) Ropytype flow

Composite conés are the
characteristics of :

(A) Strato 'volcanoes

(B) Cindercone volcanoes

(C) Shield volcano

(D) Lava domes

Contd.




39.

40.

41.

42.

According to Airy's theory of

isostasy :

(A) Lighter mountains are floating
on the lighter substratum

(B) Lighter mountains are floating

on the denser substraium

(C) Denser rnountains are floating

on denser substratuni
(D) Denser mountains are floating
_ori thé lighter substratum
The Atlantic continental margin of
North Amarica is known to be . |
(A) Anactive margin

(B) Passive margin

(C) . Suture zone

(D) Collision zone

The average depth of the oceanis
(A) 5,200 meters

(B) 4630 meters

| () 3729meters

(D) 3,062 meters

Palasomagnstic data is useful for

~ understanding :

(A) - Pole reveraals

ER - 2A/10

43.

44,

45,

(B) Composition of mantie

(C) Internal structure of the earth

(D) Origin of life on garth

Guyotis a: |

(A) Ridgeofa foid mquntain .

(B): Major d_epr.es_s_ior_\ in a
continental area -

(©) Flat topped sé’amour;t

(D) Flattopped hillon the sqr'face

Deep sea trenches are generally

assaciated with 1

(A Ciroum pacific belt

(B} Mid—oceaﬁ%d ridges

(C) .lslanc-i arcs N

(D) -Collisio'nalareas '

The temperature re_ginje inthe upper

part of the [owerjcrust is: |

(A) 400-500°C |

(B) 300-400°C

(C) 100-200°C_

(D) 200-250°C.

(Turn over)




46. Which of the following represents the
youngest event in the Dharwarian

stratigraphy 7

(A) Sargur Group; 50.

(B) Closepet Granite
(C) Dharwar Super Group

(D) Peninsular Gneissic Complex

47. Choose the correct pair of

stratigraphic formation and its

" corresponding age 5.
(A Bh_anderrGroup —_ ’Ear}y_
Proterozoic
(B) Niniyur Formation —
Cretaceous
52.

(C) Long Formation — Oligocene

(D) Bheema Group — Cambrian

48. Kutchis the type Area in India for :
(A)  Jurassic formation
(B) Early archeanrocks
(C) LateArchean focks

(D) Cambrian formation

49, Siwaliks are well known for: -

(A) Dinosaur fossil

ER - 2A/10 (8)

(B) Inveriebrate fossils
(C) Mammalfossils
(D) Plantfossils

In Spiti, the Permians are

represented by :

(A) Muthquartzite

(B) Kanawar Group
(C) Kulinggroup

(D) Agglomerate shale

Dalhi system is intruded by :
(A) Erinpura Granite

() BIjili Rhyolite

(C) Sighbhum Granite
(D) Bundelkhand Granite

Which of the following statement is

gorrect ?

(A) The Mesozoic Bhuj formation
consists predominantly of
sandstones

(B) Kaladgibasinis predominantly
made of slates

(C) \ﬁﬁdhyan supergroup is devoid
of limestone

(D) Cuddapahbasinis predominantly

made of metadacites

Contd.




53. Marker horizon for Devonian in
Himalaya is called ;

(A) Lipak formation

b7.

(B) Poformation
(C) - Muth quartzites

- (D) - Syzingothyris limestone

54, Stromatolites provide insight for:

A drigir_t and Evolution oflife
®) . Recognizing boundary between
. Cambrian and Ordovician’
(C) Glaciation process
(D) Weathering cycles
55. In Hirﬁalayaé, the maln boundary fault
séparétes o

(A) Siwalk and Tertiary

(B) SiwalkandArchean 59,

(C) Vindhyan and Aravall
© Siwalik and Dellh-_i_C_:‘-roup
§6. The Voluminous Deccan Flood
Basalts occurred d_ur_ing:’ o
:(:A)' O_rdovician |

(B) Triassic

ER-2MN10 - (9)

58,

(C) Silurian

(D) Pleistocene

Mesozolc and CehdZdic bcundary
lies approximately at : |

(A) 75 lMa '

(B) 60Ma

(C) 120Ma

(D} 65Ma

in Kashmir-Haza!ré area, the Archean
rocks are called :

(A)‘ - Buxa series .*_

(B) Salkhalé séries-

(C) Sakarsanahall series

©) Ardvalliseries -

In the"gzjeoldgical histqr‘y._;vghiqh_ bf the
following occupies .Ig;ngest time
period-? |
(A) :Palebz.'olcn
(B) Meéozbic :
(C) __Precambria-n

(D) Cenozoic-

© (Turnover)




60. Which of the following is known to be

61.

62.

63.

]

t-he bourndary of mass extinction 7

- (A) Proterozoic — Cambrian

(B) Miocene — Pliocene
(C) Triassic—Jurassic

(D) Cretacedus —Tertiary

Archagocyatha is confined to :
(A) Lower Palaeoz.oic

(B) Proterozoic

(C) Ju;'assic |

(D) Tt?rtiary

Trilobites lived during :

(A) Earlyt§ late Archean
(B) Cambrianto Permian
(C) Triassic t_d Cretaceous

(D) Camhrian to Triassic

The first group of tetrapods to

coIonize the land successfully are ;
(A) Aves |
(B) Mammalia
(C) Ampﬁjbia

(D) Reptilia

ER-2A/10

(10)

64, Crinoids range in age from :

65.

66.

67.

(A) Triassicto Cretaceous
(B) Cambrianto Ordovician
(C) Cambriantorecent

(D) Jurassic to Cretaceous

Organisms which live attached to
another larger organism are known

as.

(A) Epifauna

(B) Epitheca

(C) Epizoic

(D) Eozoon

Plankton generally refersto :

(A) Free rswimming organisms
(B) Bottom dwelling organisms
(C) Burrowing organisms

(D} Unicellular organisms

In the evolution of horse which of the

following was the first stage ?

“(A) Hyracotherius

(B) Epihippus
(C) Mesohippus
(D) Eohippus

Contd.




68.

69.

70.

Amoﬁgst the following flora which 72.

represents a conifer ?

(A) VSc;hi_zoneura

(B) Buriadia
(©) Gangamopteris
(D) Glossopteris.

Which of the following is primate 73

fossil?

"(A) . Stegolophodon -

(B) Hipparion -

(C) Ramapithecus

(D) Equus

Sutures of the émmondi&s belonging
to which period are an important
featurein recognizing their evolution ?

(A) LatePalacozoic

 (B) Cenozoic B

(C) Mesozoic

(D) EarlyPalacozoic

T

Physa—the gastropod génus shows 75.
(A) Planispirally coiled

(B} Déxirallycoiled -
(C) Uncoiled nature |

(D) Sinisterly colled

 ER-2AM0 M)

74,

Which of the following Brachiopod
has dental system ?

(A) |narticulaia

(B) Adiculata

(C) Deltidium

(D) .Dethryum

Conodontisa:

" (A) Siliceous microfossil

(B) Phosphatic microfossil

(C) 'Fossilized ﬂorarl species

(D) Coral shell

Which amongst the following is a
bivalve genus having fbxodont type
dentitfon ? .

(A) Arca |

(B) Pholadomya

(C) Venus

(D) Mylius
Echnofossilisa:

(A) Fc;ssi_lizgd _I_am_eilib;a_nch shell
(B) Fossilized trilobite shell

(C) Fossilized serpenttrail

(D) Fossilized horse foot print

(Turn over)




76. Generally, acidigneous rocks contain :

77.

78,

79.

(A) 10% or more free quértz
(B) 15% or more free quartz
(C) 60% ormore free quartz

(D) 65% ormore free quartz

Andesite is : 7

(A) Acoarse grainéd acid plltiltonic
rock o |

(B) Afine éraineé hypabyssal rack

(C)V ., Aﬁ ihten"ne'diate vol'cani.c rock

(D) Anultrabasic voleanic rock

The first mineral formed in the

sontinuous series of Bowen reaction

principle is ;

(&) Sodic-Calcic plagioclase
(B) Potéshfeldépar

(C) Calcic-soidi-c plagioclase
(D) - Calcic plagioclase |

A magmatic rock rich in calcium

* “carbonate and often containing rare

earth 'm'ine‘ral’s.- is :
(A) Alkali basalt

(B) - - Syenite porphyry -

ER - 2A10

80.

81.

82.

83,

(C) Carbonatite
(D) Granodiorite

Generally, a charnockite has a

mineral composition of -

(A) Quartz-Hornblende-Oligoclase
(B) Quariz-Epidote-Andesine
(€) Qu_artz—Fgldspar-Hypefsthgne
(D) Quartz-Feldspar-Augite

if the ferromagnesian content of
dlorite is 100%, then it is called :
(A) Perkinite

(B) Leptinite

(C) Meladiorite

D) Leucodiorite

By minéral,.compo_sition, dolérite is
equivalentto: .

(A) Pitchstone

(B8) :S.yeni:ter 7

(C) Peridotite

(D) Basalt

Beerbachite is a variety of : _k

(A) Gabbro

(B) Basalt

(C) Dolerite |

(D) Monzonite

Contd.




84.

85,

86.

87.

Adamellite contains :
(A) Roughly equal amounts of
- Qligociase and K-feldspar
(B) Roughly equal amounts of
Quartz and Oligoclase
Roughly equal amounts of

(C)
Quariz and K-feldspar

(D)

Roughly equal amounts of
Quariz andAIbi_te :

Graphic texture is normally exhibited
by: |
Ay
(B)
()
(D)

Komatite

Pegmatite

Plhcnoili'te ’_ |

Anorthosite |

An igneous body that haé dbome"d
up the strata into which it has been
inserted is known as : -

A
(B)
©
(D)

Leopolith

ﬁyke

Bysmalith

Laccolith

A process whereby magma works its
way up into the crust of the earth is
knownas: R

(A) Magmatic injection

ER-2A/10"

(13)

88,

89,

0.

@

®)

(B) Magmatic thrusting
(C) Magmatic stoping =

(D) Magmatic intrusion -

- Minette is a type of:

(A} Diorite
Tonalite
(C) Aplite

(D) bLamprophyre

The process of complete or partial

‘1
melting of a rock is known as :

~{A) Migmatization

(B} Assimilation

(C) Juvenile magmatism

(D) Palingenesis

Liguid im'igsibility‘ 'genératly ifesu[ts
from: | |

(A)

H

Mixing of two Ilqu1ds of two

different composmon

Mlxmg of two IquIds of same':
composmon |

(©) Unmlxmg of two I|qu1ds of
different composmon

(D)

Unmixing of two Ilqmds of same

composition

(Turnover)




91.

92.

93.

94.

Arkose contain more than 25% of .
(A) Micas

(B) Amphiboles

(C) Feldspars

(D) Chlorite

The silt grade detrital sediments

would have a size rénge of :
(A) 1/16 mmto 1/256 mm
(B) Lessthan 1/256 mm
(C) 1/16mmto2mm

(D) 2mmto1mm

The leaves of hardened clay
deposited in a sand or similar
sediment aé flat or lense shaped
structure are called :

(A) Clayflakes

(B) Clayballs

{C) Claystones

(D) Claygails

Rounded to sub-rounded clast with

a diameter between 64"and 256 mm

is generally known as ;

'(A) Gravel

(B) Pebble
(C) Cobble
(D) Boulder

ER - 2A/10
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95.

96.

97.

98.

If a series of inclined bedding planes

* showing some angular relationship

to the direction of current flow, then

they are generally called as :
(A) Gradientbeds

(B) Currentbeds

(C) Dipping beds

(D) Convolute beds

Compaction and cementation of
sediments occur during :.

(A) Transportation

(B) Hightemperature and pressure
medium

(C) Highwater pressure

(D) Diagenesis

Oscillation ripples are formed in
(A) Deep sea environment |
(B) Beachenvironment

(C) Ailuvial environment

(D) Desertenvironment
Occurrencelof ferroan calcite

cementing in a carbonate rock is an
indicator of :

(A). Deep burial diagenesis

(B) Vadose diagenesis
(C) Phreatic diagenesis
(D) Seafloor diagenesis

Contd.




99, Syn-sedimentary deformation (B) Miogeosyncline

structures are a result of : (C) Rittvalley

(A) Massive transgression (D) Graben
(B) Low sedimentation
103. Which of the following rocks is
(C) Marine regression ' :
principally made up of clay
(D) High sedimentation
' _ minerals ?
100. If sedimentis d:_a.minantly composed (A) Arkose
of organic detritus, it is known to.
o ) (B) Silistone
indicate : ‘
(A) Complexskewness (C) Greywacke

(B) Positive skewness (D) Dolostone

(C) Negativeskewness 104. Which -of the following is a

(D) Noskewness " depositional sedimentary structure ?
101. In shaliow marine environment, (A) Gradedbedding.

generally the palaeocurrent patterns (B) Trough cross bedding

are | (C) Collapse structure

(A) Polymodal (D) Injection structure

(B) Bimodal , L
: 105. Alimestone which contains mainly of
(C) Unimodal ' C
B “organic detritus is generally cailed
(D) Both Bimodal and Polymodal : S e
' as:

102. A basin with thinner development of ; . |
(A) Spergenite
sediments and no_volcanic rocks, Lo

. . , ,(B) Coquina
forming adjacent to a craton is O
called : (C) Oolite
(A) Parageosyncline o (D) Calc-tufa

ER-2A/10 ) (15) (Turn over)




108. Which type of compressive strength

107.

108.

is taken as the mostimportant index

property of stones ?
(A) Confined |
(8) Drained
(C} Undrained
(D) Unconfined

What is the maximum force

expressed per unit area, which a

stone can W|thstand without .

rupturlng?
(A) Shearstrength
(B) Tensile strength

(C) Compressive strength

(D) Bendtng _strength

Which rocks possess very: hlgh

compressive strength ?

(A) Igneous ,

_ (B) Sedimentary

109.

(C) | Metemprphic
(D) Both

metamorphic

sedimentary and

Ratio between the total volume of

pore spaces to the totat volume of the

ER -

rock is a measure of

(A) Void ratto _

2A/10

(18)

. (B) Porosity

110.

(C) Pores ratio -
(D) Bulkdensity
The density of the rock with natural

moisture qontent isknownh as:

(A)‘ Dry density

(B). Wetdensity.

111.

112.

(C) Bulkdensity

(D) Natural density

The lmpact testmg of a stone is done

toknowthe

(A) Durability |

(B) Porosity

(C). Density

(D) Toughness

The sudden release of stress in rocks
during tu_nneliqg-will normally tesut_t
in: |

(A) Rock fall -

(B) Rockbursts

(C) Blockage

(D) Watergush

.Contd,




113.

Strata dipping at angles upto 45° are

called :
(A) Moderately inclined strata
(B) Steeply inclined strata

(C) Plunge

- (D) Overtumned

114,

115.

Which type of geological structure

can be.rectified by grbuting ?

(&) Joints

(B) Folds
(C)} Faults

(D) Inclined strata

When is the strength of a compact
rock always greater ?
(A) When stresses are normal to

bedding planes -

(B) When stresses are parallel to

bedding planes

 (C) When stresses are inclined at

ER -

45° to bedding planes

(D) When stresses are inclined at

60° to bedding planes

2A/10
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17.

118,

Which of the following could be the

best site for a dam construction ?

(A) Asite with a granitic bedrock

(B) Asite with good shearfractures

(C) Lateriticzone .

(D) A site with limestone bedrock

Which of the following is true about

granite ?

(A) It has very high crushing

strength
(B) Ittakes poor polish
(C) ltis ahighly porous rock
(D)  itweathers out faster
Which of the following is not a

desirable property for a road

metal ?

(A) Sﬁould be hydrophobic

(B) Should have sufficient crushing
stre‘r_lgthr

(C) Should be strongly sheared

(D) Should be highly-porous and

permeable

(Turn over)




119. Eés.é‘with which a stone can he

120.

exiracted and dressed is calted : -

(A) Consistency -

-(B) " Workability

(C) Easability

(D) Permeability

Which of the following materials is -

generally used as a roofing slab ?

(A} Slate

121.

(B) Granite
(C) Mardle . -

(DY Gneiss -

The reffacti\fe index of the ccean

“water: .

.- {A) Increases with salinity

(B) Increases with temperature

(C) - Decreases with salinity -

“(D) - Decreases with temperature

122.

Which one of the following geomeiric
errors ‘of satellite sensors is
randpm ?

(A} Scanskew- .

ER—-24/10

123.

124.

(B) Panoramicdistortion . . .
(C) Earthrotation
(D) Altitude variation .

The instruments which provide

electromagnetic radiation of

specified wave length or a band of

wave lengths to illuminate the eant

surface, are called :
(A) Microwave sensors
(B) Passive senéors_ B
(C) Active sensors

(D) Optical sensors

The coherence length over which

thereis a strong relationship be__tween

gmplitqdes is : |

(A) Directly prqpqrtional tc; the
_bandwidthl' |

(B) Inver_rsely‘ proportiqnal to the
__band\_/gi'drth . |

(C) Thesquare ofthe bandwidth

(D) The inverse of square of

bandwidth

- Contd.




125.

126.

)

127

ER -

The spectral region of the
electromagnetic radiation which
passes through the étfnosphere
without much attenuation in known
as:
(A)

Ozone hole
(B) Atmospheric window
Ozone window

Black hole -

The value of energy quantum for
radiation of. ang}.frequency is
proportionalto:

(A) The frequehcy

(B) The reciprocal of the energy
(C) The square of the frequency

The square root of the

frequency

. A and B are two towers of equal

height diametrically opposite on
either side of the nadir point at 3 km
and 5 km distances. Then, which one
of the following statements is

correct ?

{A) Height displacement of A will
be less than that of B

2A/10
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128.

129.

(B) Height displacement of B will
be less than thatof A

(C) Height displacement of A and

Bis equal |

(D) Height displacément of Aand
B will be towards each other

The most widely use_d' antenna in

GPS is:

(A) Parabolicantenna

(B) Microstrip anténna

(C) Homantenna

(D) Slotted antenna

“An Electromagnetic wave falls on to
a boundary between two less
homogeneous fnedia_ with different
refractive ihdiceé and a part of the
wave is reflected back to the incident
medium and the rest is transmitted
on-to the second media.” This
phenomenon is known as: -

(A) Fresnel reflection

(B) Fresnel refraction

(C) Snellslaw . .

(D) Spectral reﬂectgnce‘_ .:

. (Turnover)




130.

131.

The normal altitude of GPS satellite

is about ;

(A) 16,200 km

(8) 20,200 km
(C) 24,400 km
(D) 36,100 km
For interpolation ofi satgllite d'a;ta
used for rﬁonitorin_g. dynamic
changes ‘that occur on the earth

surface, the most suitable orbit for

the satellite is :

(&) Circular orbit

(B) Sun-syrichronous orbit

() Nearpolar orbit

~132.

ER-

(D) Norie of these |
The raii_o of the total solar radiant
energy returned by a planetary body

to the total radiant energy incident on

the'body iscalled:
(A) Réﬂectahce e
(B) ReﬂéctanCe factor
(C) Albedo-

(D) ' Norie of these

2A/10
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133. The maximum sun’s radiation occurs

ardu_hd :

(A) 0.4 pumwave Iength -
(B) 0.55pwave length
(C) lO,.T p wave length

(D) None ofthese

134. The resolution (m) of LISS-IV

- Resourcesat~1is:

135.

(A) 58m

B) 23.5m

(C) 6m

(D) 70.5m

The art and science of manipulation
of digital data including
enchaﬁcemehf; calssifidati-.on and
rectification is knownas:

(A) Orthorectification -

'(B) .Ir.nageprocessin'g |

(C) Rectification
(D) Geometric correction

Contd.
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136. A geographic field is a phenomenon
where for every point in the study

“area:
(A) Avalue canbe determined
(B) Avalue can notbe determined
{C) | A_vallue is not relevant
(D) Avalue ié rﬁissihg
137. Interpolation is made possible by a
‘principle called :
. (A) Spat.iallA'utocorre'!ation
(B) .Spétialauto-corréction |
(C) ThematicAutocorrelation

(D) Thematic auto-correction

138. In GIS application, SDI stands for :
(A) Spatial Data Interface
(B) S;)atial Data Infrastructure
(C) Spatiai Data Intention
(D) Spatial Data International

139. The process of using daté péin_ts with
known values to estimate values at

unknown points in any given area is

called :

 (A) Spatial Prediction

ER - 2A/10 (21)

140,

141,

142,

(B) Spatialnterpolation

(C) SpatialAdjustment ~

(D) Spatial Reflection

How a large city gene_raﬁy ap‘be’ars :

ona1.25,000 scale map?

(A) Asasignle po_‘int el

(B) Asa cluster of points, lines and
_ .polygons 7 o -’

(C) Asapolygon |

(D) Asaclusterof pdints

What does 1 mm on a map drawn at

. a.'scale of 1: 50,00‘0 répresent on

the ground ?

(A) 50 ce,ntimefres | o

(B) 5metres:

(C) S0metres -

(D) 500 centimetres

What doés“the_abbre_y_ia-tjor} _!?BMS

standfor? . |

(A) Digital Base Mabping System

(B) DataBorrowing and Movement
Software.

(C) Database Management System

" (D) Database Manipulation Software

(Turn over)




143.

For which of the following
applications, the buffer operation can

" beusedinGIS?

| (A) Calculating the distance from

144,

- one point to another -

(B) Calculating the area of overlap
‘between two polygon data

_ Iayers
(C) Determmmg the area within a
set distance from a point, line

or area feature

(D) Calculating the number of
observations W|thm a set
distance of apoint hne or area

_ feature

AGISis"a set of tools for coliecting,
storing, retrieving, tranformating and
displaying spatial data from the real
world for a particular use” as defined
by: _

(A) David Rhind {1991)

~* (B) Peter Burrough (1986)

(C) Mike Goodchild (1997)

- (D) Roger Chorley (1987} -

145,

ER
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‘What is reclassification ?

146.

(A) The process of combining orie ‘

or more data ranges into anew
data range to create a new

data layer

- (B)- Ananalytical technique based .

on pointdata

(C) Theprocess of s&mpltfylng data
in a data layer

(D) The process of combining two

or more data layers

What is 'poilnt-in—polygon' overléy ?

(A) A method interpolating point
data . o '

(B) An overlay method used to
determine the «di-sta.nce
between a point and its nearest
nefghboUring polygon

(C) An overlay method used to

reclassify polygondata.

(D) An overlay method used to

147.

- (22)

determine as to which points lie

~ within the boundary of a
polygon

A matrix of cells organized into rows
and columns containing a value
re,preéenting somé infbrmétion is
called:
(A) Crystal
(B) Raster
(C) Ségment
(D) Polygon

Contd.




148. Which of the following is nota type'of | (C) A generic method of creating a

map projection ? GIS map data structure

(A) Cylindrical (D) The modeling of map inputs to

(B) Conic a GIS, using programming
language

(C) Azimuthal

150. Data stream means :
(D) Geographic
(A) The process by which raw

149. Cartographic modeling is : spatial data is processed into
(A) The sequence of modeling of anintegrated GIS database
real world entitieé in a GIS (B) The flow of data from one user
database to another
. (B) A way of expressing and-’ (C) The process by whichmaps are

organizing methods by which transferred between GIS

. ” latforms
spatial operations are selected P

(D} The flow of data from user to
GIS platform

and used to develop a GIS

model

ER —2A/10 (23) ( Turn over)
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